
Note 2: When ordering replacement parts a serial number will be required to ensure receipt of correct items

ITEM QTY DESCRIPTION PART NO.
A 2 LOWER FRT TO BACK 3X2 TUBE MH-10PWCLSP-25
B 2 SPREADER 3X2 TUBE MH-10PWCS-25
C 4 LEG MH-VLT30-25
D 2 CARRIAGE BEAM MH-10PWCB-13
E 1 SUPPORT TUBE MH-10PWCWDS-13
F 2 CRADLE TUBE LEFT & RIGHT MH-10PWCWCTL/R-13
G 1 WINCH COLUMN OPPOSITE MH-10PWCWCO-25
H 1 UPPER CABLE TUBE MH-10PWCUCSP-25
I 1 WINCH COLUMN MH-10PWCWC-25
J 2 NON-WINCH COLUMN MH-10PWCNWC-25
K 1 1/2" EYE PULLEY NO LINK MH-1060PWCPANL
L 4 UPPER CABLE BRACKET MH-10PWCUCB-25
M 4 GUIDE PLATE MH-10PWCGP
N 4 COLUMN CLAMP TEE MH-V25TC
O 4 COLUMN CLAMP L MH-V25LC
Q 4 1/4" ALUMINUM CORNER PLATE MH-10PWCCCP-13
T 1 30" WHEEL MH-WHEEL30
U 1 WINCH MH-WINCH1502
V 2 3/16" SS X 134 1/4" LONG BEAM CABLE H-CABLE10PWCBM134
W 2 3/16" SS X 124 5/8" LONG FRONT TO BACK CABLE H-CABLE10PWCFB124
X 1 1/4" SS X 240" LONG LIFT CABLE H-CABL10PWCW-240

1 76 3/8" WHIZ NUT (SOME PRE-ASSEMBLED) H-NS37
2 1 KNOB H-KNOB
3 8 3/8" X 2 3/4" BOLT H-B37275
4 8 3/8" X 1" BOLT H-B37100
5 16 3/8" X 1 1/2" BOLT H-B37150
6 4 3/8" x 1" FLAT HEAD BOLT H-B37150FH
7 16 3/8" X 4 1/2" BOLT (PRE-ASSEMBLED) H-B37450
8 2 1 1/2" ROUND CAP H-PCR19SCH40
9 15 1/2" WASHERS H-W50
10 5 1/2" NUT H-N50
13 5 2" X 3" CAP H-PCREC23
14 4 3/8 LEG CLEVIS PINS
16 18 3/8" X 4" BOLT H-B37400
17 1 3/8" X 2 1/2" BOLT H-B37250
18 18 3/8" WASHER H-W37
20 8 1/2" X 2 3/4" BOLT (PRE-ASSEMBLED) H-B50275
21 8 ALUM SPACER X 1/2" LG (PRE-ASSEMBLED) H-SPACERALUM.50
22 8 BRONZE BUSHING X 1 3/4" LG (PRE-ASSEMBLED) H-BRBUSHING1.75
23 10 SHEAVE 2 5/8" OD (PRE-ASSEMBLED) H-SHEAVEGN2675
25 4 1/2" BOLT X 1 1/2" LG H-B50150
27 13 1/2" NYLON LOCK NUT (SOME PRE-ASSEMBLED) H-NL50

Title:  1200 LB CAPACITY VERTICAL HOIST Drawing Number:

A-MH-10PWC-25PARTSLIST

Date: 9/3/24

                       Parts List for MH-10PWC-V, 2025 Series

Note 1: New hoist has cables, sheaves and column L &T clamps are preassembled

     This drawing is the property of NuCraft Metal Products. No Part of this drawing

     may be reproduced without proper authorization from Nucraft Metal Products.

NuCraft Metal Products

Roscommon, MI 48653

Visit us at www.craftlander.com

R


